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7 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~ -
s 1.00 | 0.00 ~ 468 5834 | =nLWS | 000 ~ 468 1.84 9.63 st 1.00 | 6.00 ~ 5.00 58.34 | =h4 | 5.00 ~ 65.00| 1.84 9.63
2 100kN/mM%#BZ % - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~
s 1.00 | 0.00 ~ 627 7876 | hS | 000 ~ 000|173 9.05 st 1.00 | 6.00 ~ 7.30 7876 | TS | 5,00 ~ 7.30)| 1.73 9.05
3 100kN/mM%#BZ % - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - S| 3mEBZD -~
s 1.00 | 0.00 ~ 6.80 86.00 | NS | 0.00 ~ 680 | 1.86 974 st 1.00 | 6.00 ~ 8.50 86.00 | =hs | 5.00 ~ 850 1.86 9.74
4 100kN/mM##BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - S| 3mEBZD -~
s 1.00 | 0.00 ~ 6.12 76.71 | FnLS | 0o0o ~ 612|202 10.61 st 1.00 | 6.00 ~ 820 76.71 | TS | 5,00 ~ 820 2.02 10.61
5 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -] 100kN/m#%#8% % - -~ - -1 3mEBZD -~
s 1.00 | 0.00 ~ 743 94.84 | NS | 000 ~ 743 2.44 1278 st 1.00 | 6.00 ~ 10.69 94.84 | =hS | 5.00 ~ 1069 2.44 12.78
P 100kN/m%EBZ5 | 1.00| 000 ~ 002 10028 |3mEBZ5 -~ - - -] 100kN/ %825 | 1.00 | 1064 ~ 1069 100.28 |3m%E#BZ% -~
s 1.00 | 0.02 ~ 780 100.00 | #nlst | 0.00 ~ 7.80 | 2.26 11.87 st 1.00 | 6.00 ~ 1064 100.00 | =nst | 6.00 ~ 1069 2.26 11.87
- 100kN/m%EBZ5| 1.00| 000 ~ 043 106.35 |3mEEZD -~ - - -] 100kN/ %825 | 1.00 | 1064 ~ 11.81 106.35 [3mZEEZ D -~
s 1.00 | 043 ~ 821 100.00 | #nllst | 0.00 ~ 821|226 11.88 st 1.00 | 6.00 ~ 1064 100.00 | =nst | 6.00 ~ 1181)] 2.26 11.88
P 100kN/m%EBZ5| 1.00| 000 ~ 038 10557 |3mEEZD -~ - - -] 100kN/ %825 | 1.00 | 10.71 ~ 11.82| 105567 |3mE#BZ% -~
s 1.00 | 0.38 ~ 816 100.00 | #nst | 0.00 ~ 816 | 2.10 11.00 st 1.00 | .00 ~ 1071 100.00 | =nst | 6.00 ~ 1182|210 11.00
9 100kN/mM%#BZ % - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - S| 3mEBZD -~
s 1.00 | 0.00 ~ 714 90.75 | =S | 000 ~ 714\ 1.83 9.62 st 1.00 | 6.00 ~ 9.13 90.75 | =hs | 5.00 ~ 913 | 1.83 9.62
10 100kN/mM%#BZ % - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -1 3mEBZD -~
s 1.00 | 0.00 ~ 6.31 79.31 | FnS | 000 ~ 631 1.84 9.63 st 1.00 | 6.00 ~ 7.50 79.31 | TS | 6,00 ~ 7.50 | 1.84 9.63
11 100kN/mM%#BZ % - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -1 3mEBZD -~
s 1.00 | 0.00 ~ 701 8887 | =S | 0.00 ~ 7.01| 2.66 1341 st 1.00 | 6.00 ~ 1070 88.87 | #hAst | 5.00 ~ 10.70| 2.56 1341
12 100kN/mM%#BZ % - -~ - -|3mEBZD -~ - - -| 100kN/m%#8% % - -~ - S| 3mEBZD -~
s 1.00 | 0.00 ~ 7.40 94.44 | =nRS | 000 ~ 7.40 | 2.45 12.83 st 1.00 | 6.00 ~ 1070 94.44 | =hS | 5,00 ~ 1070 2.45 12.83
13 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -1 3mEBZD -~
s 1.00 | 0.00 ~ 740 94.39 | #nRS | 000 ~ 7.40 | 2.45 12.84 st 1.00 | 6.00 ~ 1070 94.39 | =hLUS | 5,00 ~ 1070 2.45 12.84
14 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - S| 3mEBZD -~
s 1.00 | 0.00 ~ 5.84 73.05 | TS | 000 ~ 0.00| 1.57 821 st 1.00 | 6.00 ~ 723 73.05 | ThS | 6.00 ~ 7.23| 1.67 821
15 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -1 3mEBZD -~
s 1.00 | 000 ~ 473 59.00 | =Nt | 0.00 ~ 0.00 | 1.66 8.70 st 1.00 | 6.00 ~ 5.00 59.00 | =nst | 6.00 ~ 5.00| 1.66 8.70




